1 ZHOATH

AEGERRBIRUANLBR-E

EHRARER RE BHhHIRFTBRES

:23 ﬁikgﬁ(ﬁf%ﬁ 2?&2;88222%;2510%
%

(&4 AEE [ : @2 &8 =
(BR) EFaAUE 5 1,784,200| s (KPR {f 4% R i D =8O HERR
R E fim fRIE(HR) 6 1,784,400| K PRATEHE K D 1= O HEBR
JLEEE L EBLGER) 11 1,808,640
BEILTY/ 14 1,907,000
FFE LB (B) 12 1,812,000
FRIRILY IR 13 1,824,000
HEE LY —E X(¥F) 10 1,799,999
BRR)—ITRAVTF VR 8 1,792,400)  EAEHIRMEHERiED = BERR
(BERBREY—EX iR
HELIE 2 1,776,000 s IK&IPR M4 R iD= HEER
TAZTAI A RE—(#5) 1 1,753,600|  x{E&IPR{f 4% R i D =8O HERR
PREJLADTFUREE) 3 1,778,200 s KPR M4 R iD= HERR
HEE )L E (R 9 1,797,800 &AL
RINEE (%) 7 1,789,000  FARHIBRIMEAE KD 1= O HEBR
BR)IT—ILRIvT4 4 1,784,100| s {E&IPR M4 R i D = HERR




AEGRREFBIRUVALBR-ER

3 AHLITHE [FN64E (20244 ) 3A6 H 108F
%

*E4 g =43 : iﬁ &8 s
(¥R) EFa AUk 9 1,694,460,  SIKHIPRIEAERED1=HBERR
BERE R REGR) 4 1,680,000  E{K PR R D= BEFR
JLEEE L EBI(R) 8 1,693,600  EIKHIBRIMEMEREDI=HOHERR
HEILTY/ 11 1,723,000
FR)NILYDIR 12 1,725,600
HEE LY —E X#) 10 1,698,800 AL
BRI —IRAVTFUR 2 1,653,400  EIEFIPRIEE RiEDI=HHERR
(BEERBEY—EX TR
TAZTAIARZ—(¥F) 1 1,652,400  EIEHIRMAERiE D= HERR
PREJLASTF U R(HE) 3 1,661,800 B {K il PR 5 R i D 7= O HEFR
BEEILEEB#E) 7 1,688,900,  mIKHIBRMEMERiEDI=HHERR
EINESC- ) 5 1,683,000  EIKHIBR{MEHEARED 1= HERR
#R)T—ILRIvT4 6 1,687,500|  ERIEHIRMAE KD = HEFR
FRBERBE 13 1,771,000




1 DA

AEGERFEBIRUALBER-E

EHRERER LI M HIRFTERES

g ﬁit;;tfrgﬁﬁk#%%E giggigggjgggggmﬂ#

&4 B B sz : @g L =
(B)EFa Ak 6 1,826,800 B (K | BR AT A R 55t D = H HE B
BRE i RIE(RR) 9 1,836,000 RS HI PR R E D = H HERR
EBEE LB B (HR) 14 1,856,100
THEERGER) 4 1,824,000 B A il BR fll 4% 2R 55 D 1= $H BEBR
FRIL—I % 7 1,834,500 x| BR AT A R 5ot D F= S HE B
#EILTY/ 12 1,840,000 B A il BR flf 4% 2R 37t OD 1= SH BEBR
(R NILYI R 3 1,817,200 B 1K 1| BR 1l 4% oK i D = 8O BEBR
MEE LY —ERE) 13 1,848,300 AL
FRRY—TRAATF VR 5 1,826,200 B 1 | BR AT A% R 55 D 1= DO HE PR
(FERMBEY—ER R
TAZTAIAREZ—(¥) 2 1,810,000 Ex (K I BRAME AR AR 55 D = H HE B
HZEEILEEGR) 15 1,856,800
AFE LY —ER#K) 10 1,837,400 B 1K 1| BR 11 4% K i D = O BEBR
RIEE () 1 1,798,400 B fEC il BR il 4% 2R 7 D 1= H BEBR
)T —ILE YT 4 11 1,837,500 B | BR AT A% R 55 D 1= D HE PR
)T ITFI)T4— 8 1,834,800 AR K FRMEAS R D 1= BEBR




